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THEOREM 4.5: HYPOTENUSE-LEG CONGRUENCE
THEOREM

If the hypotenuse and a leg of
a right triangle are congruent
to the hypotenuse and a leg

of a second triangle, then the
two triangles are

£
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Write a proof.
Given AC = EC,
AB L BD,
ED L BD,
AC is a bisector of BD.
Prove AABC = AEDC
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Proof A
Given: AB=BC. D is the midpoint of side AC
Prove: AABD = ACBD
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Proof B

Given: WZ=WX, WY bisects ZX
Prove: AWYZ = AWYX
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Proof C

Given: BA = A_D,E =CD
Prove: AABC = AADC B
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Proof D

Given: M bisects KN, KN
bisects IM, JK = NM
Prove: AJLK= AMLN
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Given: 1) point C is the midpoint of BF 2) AC= CE

Prove: Triangle ABC is congruent to triangle EFC
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Given

HJ is a perpendicular bisector of KI
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Given

AD is perpendicular to CB
CA = AB
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Proof A)

Given: AD 1 BC,BA =AC
Prove: AABD = AACD
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Wirite a proof.

Given FJ = HJ, i
G is the midpoint of FH.

Prove AFGJ = AHGJ
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POSTULATE 20: SIDE-ANGLE-SIDE (SAS)
CONGRUENCE POSTULATE

If two sides and the included angle of one triangle are
congruent to two sides and the included angle of a
second triangle, then the two triangles are congruent.

It Side RS= s v

Angle /R = ,and
Side RT= ,
— A T w

then ARST=
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[Example 2

Write a proof. J ” L
aiven TN = IR, KN = N W
Prove AJKN = ALMN

K M




